Code No. 5661
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D. El. Ed. 2" Year Exam., July — 2022
Pedagogy of Sanskrit Language
GEpeT AT 1 e
(Course Code : DE-211)

(Only for Fresh/Re-appear Candidates)

[ Evening Session ]

Time : 2 Hours ]| [ Max. Marks : 35
7T : 2 gue | [ siferaas s7% - 35
AT 39T -

(i) Y T BT @ 5 59 FoF G § FRT 5 7 T F97 6 &1

(i) gorga H afed & & G BT ¥ e T_C T G #H OFH FI-YRaE &
FET-g%3 q7 e

(iii) FYI1 97 T T [rG @ #77 @ Y&, J97 F HHFH Ha9T [

(iv) FTC-Gierenl & i 4 @l G719~ 7 88/

(v) FTC-GRawr % GfaRkFT g o dic T Aam gT FeEmEagarR & @ v
fer@r G T #Ie

(vi) ghereff s7T O To FIT-UF GT 3FIT [y

(vii) BT F977 & FTY 37 § g7 GERGT F T [ Fe7-07 [T T @& &, qer B I 59
T § 25 arar w7 A AR
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1. Ay 99§20 e e HE — 2x3=6
(%) velmwerr Rt R Gaes geal

(@) deER S WY g ARy gRehoy st el
(M) OISR W YaeE edSHE: @E T Il

2. HHiREdy g4 99T g% 99T qEed: - 1x3=3
(%) v 9REE F=eq aHEE 9ET 9O HEdl

(@) ST AT P Fa 0 ¢ I o F: faer: ?

3. FAGRIAY g4 9T g U9 qEEE: — 1x3=3

(®) “g& BT T’ FTE T THE FHE GBI [Ty S el

(@) oTERMETRE & TOm: ? FHIiF THRIT ? QA STEFHAE: IR el e

4. AQRIAY E4: G g U qHEE: - 1x3=3
(@) @ISt qedsERT: ? qedsHEn: ARy SRy S 9Tl

(@) a1 R GERERg ? oTETE A YEARETE "ew A ° S|

5. T U gHIEg: - 1x5=5
(7) BTN I5ad AT AGAAHNIECTE [ IUR Sepret ara|
(@) w<a: of=d Teeq B=<q: AeEl 4O gHEdl
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6. IERFTOHLIFY I A — 15x1=15

(ii) iR
(iii) TEq
(iv) @&
(M) @T @7 R e AT G
STIGRTHIHE TaTHT G/
— T¥: Sallh: HEG T IGaIsk ?
() T
(ii) e
(iti) TR
(iv) goamEE:
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(i) A

(i) evERaq

(iii) =:

(iv) T
() ‘v TER AR ?

(i) ¥

(ii)  iferarE:

(iii) doTHE:

(i) ST
(iii) =
(iv) gafd
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(8) ‘oTreAEl’ ST TERAT # qAd ¢

()
(i) fereE:
(iti) e
(iv) e
(¥) == ITUEN: YO: TF F: qEE @ ?
() FHHEE:
(i) f&T:
(iii) TgAfR:
(iv) Yo
(37) =BTETEEE desfafy: Hska ?
(i)  oTmaf:
(i) wEIETaT:
(iil) Ty fafer
(iv) yarg fafer:
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(il) HRHEY
(iii) @
(iv) Y

(3) ‘oiwdfy sfa B wafd ?
(i) oTIBR:
(i) B
(iii) =
(iv) e
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(i) &«
(iti) 9T
(iv) @
(38) ‘HameR o &: WA WAk ?
Q) ordEmE:
(i) TcgeEw:
(iii) TgAfR:
(iv) EEE:
(o1) ‘e’ (8) FU: HIGT] BRI wWakq ?
(i) U
(i) dy
(i) F=EsT

(iv) STTcq
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